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2019(0Odd) o1d Synabus

Time : 3Hrs. Sem - V/CSE
S.E.

Full Marks : 80
Pass Marks : 26

Answer all 20 questions from Group A, each question
carries 1 marks.
Ju-A ¥ afl 20 ¥ B SR T, IAP U BT 9F 1 352 |
Answer all Five questions from Group B, each question

carries 4 marks.

9B & @t ufg uel & IR <, UAS U & 9H 4B 2 |

Answer all Five questions from Group C, each question

carries 8 marks.

7u-C & wift ufg gl & SR <, IS U & 99 § b 2 |

All parts of a question must be answered at one place in
sequence, otherwise they may not be evaluated.
TP Ued & 9 39T BT SR TP &) S8 (AR HH H)

BT A1y, =92 4 Sifd -8l oI 9ad 2 |

The figure in right hand margin indicate marks.
¥ ursd @ e QUile & qad 2 |
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10. Explain different code review techniques in detail.

11.

faftr=1 @i wfiem ae-el @ far 4@ 8

ATET DY |
OR(3721d1)

Explain the responsibility of software project

manager.

HIFEdIN gioide Ao @) e 9d1v |

List and explain different types of testing done
during the testing phase of software.

HiTedIR & AT aROT & IR fHy Y
faft=1 yoR @ gdeon 1 YA g
Ay |

OR(3721d)

Write short note on
(1) Software reuse
(i1) Software maintenance

0T5021

(i)

(iif)

(iii)

(iv)

3 18504

A& HAF DI YA BN : GIYSdW

gofifaR B8l

(31) 39 a8 > B B Gl DI
fagioar 3} uegg @& walaw fa 9 21

() ardvfe f&a @ I AR s
& 2 |

(w) gEa & & ST IUTeT dad
THAIRTY A e 21

(%) Swiaa g+

Efficiency is a software product does not
include .......

(a) Responsiveness

(b) Licensing

(c) Memory utilization

(d) Processing time

AlFeCdIR SIS A qerar H ... NI
T8l 2 |

(31) ufaferar

(@) <zt

(\) sgfa swAT

(]) yHHYoT 99y

RAD stands for

(a) Relative Application Development
(b) Rapid Application Development
(c) Rapid Application Document

(d) None
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giclersy #dfed &T 8 ? Yicielsd 991 @ (vi)
fag 19 W aRRafoa’ & wragsg @ ?

arer & sarg fb ar gieiersy &1 foafor

T AivedR e @ 997 arra A gfg

a1 8 ?

OR (3121a1)
(vii)

List five desirable characteristics of good SRS
document. Discuss the relative advantages of formal
and informal requirement specification.
. (vii)
38 TY AR U ISl &I uid aie-d
faeiyamn @ YA darR & stvalRe iR
ElyaiR® Red & dlsd &1 AraeaHdr a1
=4l B |

8. What is software project estimation ? Write in brief (vii)

about COCOMO estimation model.
8
HiredaR gRATAT A T 8 ? HIdbIAl

IH Afsd @ IR A ¥&ay A fod |

5 18504

giciersy dfsd & Ylciesy YaRI A
q TP HiA A1 AL 2 ?

(an) &faor iciesy

(d) <i9ad Ylelersy

(@) fawel yiclamsy

(%) SIM9 yiclersy

SDLC stands for

(a) Software Development Life Cycle
(b) System Development Life Cycle
(c) Software Design Life Cycle

(d) System Design Life Cycle

TASITl BT ddold 2 |

(31) WivedaR fawra Shiad 9%

() faeeq fqora Sfiaq as

(¥) divedwR feorga e aEgfed
(%) Rew ooz asw aEgfed

Which one of the following is not a step of
requirement engineering ?

(a) Elicitation

(b) Design

(c) Analysis

(d) Documentation

P.T.O
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JdifcdqR Rearrde Wfifdee= (TU IR )
$ gitrg & "usng |

OR(37214T)

Explain the various task involved in Requirement
process.

razgedr yfshar § wInfia A= ol @t
ATET B |

Explain function-point metric.
BRF-—Wrge Hifed Tusn? |
OR (3121a1)
Briefly explain PERT chart.
yd ard &l Afdra A |Hsny |
Explain object oriented design approach in brief.

4
Jfwige I9@ f¥arsa gieaivr 31 Hidra
AT=AT P |

0T5021

x)

(xi)

(xi)

(xii)

7 18504

fl § AR & &1 famr 2

(31) I sdegueE Ry aa e
(@) U™ AR A ™A
(&) 9 vt Ry Safae
(?) yrum™ gdegzHE Rwy &

Which tool is use for structured designing ?
(a) Program Flowchart

(b) Structure Chart

(c) Data-flow Diagram

(d) Module

gfaa feomstiT @ fog &9 <
SYAT fear Sirar 2 ?

(31) sriHH Feliare

(@) =T are

(W) STT ydrg IR«

(2) arsygd

In the Analysis Phase, the development of
110 ST occurs, which is a clear statement
of the goals and objectives of the project.

(a) Documentation

(b) Flow Chart

(c) Program Specification

(d) Design
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Answer all Five Questions.

(xx) WA JTALIHATA & ATHU 2T 2 |
(?1) diTcdaR SUeTe
(@) dfvcdar fawa-far
() Afredax fawerar
(®) Big &l

GROUPB

4x5=20

gl uig 93 & SR < |

2.

Discuss the attributes of good software product
in brief.

I8 WTcdIR IUTE & VN UR H&d §
a4l B |

0T5021

9 18504

(xiv) AR el fSurg dfgad yafa 4

(xv)

(xv)

(xvi)

................ &
(31 =i® dfad
(9) =13 dTa
(@) ¥ 9faq
(%) W= sfaw

The amount of time of time that the software
is available for use is known as.

(a) Reliability

(b) Usability

(c) Efficiency

(d) Functionality

SYAT & felv AfrecdaR SUde g9
P AT D B9 F ST ST 2 |

(a1) fazaw-fraar

R EIERGI

(|) <&ar

(2) srieaar

What is cyclomatic complexity ?
(a) Black box testing

(b) White box testing

(c) Yellow box testing

(d) Green box testing
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